56)

1/0 do/din(y

Ratio to ALEPH

=
o

TTTT]TTI I|||||'ITI| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII| I IIIIIII|

0.5

189 GeV ee

m ALEPH
-f3-- Herwig 7.2.0 default

--¥-- Vincia 1.2,

—a4— Pythia 8.301 defgpt™
----- ¢ Sherpa 2.2.'efault
00_8.205 default

y*/Z (Hadronic)

mI IIIIIIIII IIIIIIIII IIIIIIIII IIIIIIIII IIIIIIIII IIIIIIIII IIIIIIIII IIIIIIIII IIIIIIIII [ 11

Rivet 3.1.0, = 5.2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


